CHEMISTRY 11 Name

Molar Problems UJ/Q H A4 Block

Text readings pages 98-104 (check examples)

A.

You are given 35 grams of zinc metal. Calculate the
following using the unitary method.

1.

2.

3.

The moles of zinc in the 35 g.
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The number of zinc atoms in the 35 g of zinc.
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The mass of one atom of zinc.
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You are now given 4.1 moles of calcium chloride. Calculate
the following using the unitary method.

1.

The molar mass of calcium chloride.
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The mass of 1 molecule of calcium chloride.
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The grams of calcium chloride in 4.1 mol.
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The number of molecules in 4.1 mol of calcium chloride.
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The number of atoms of chlorine in the 4.1 mol of
calcium chloride.
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